delle FF.AA.

PROVA ORALE
TRACCIAN. 1

1) Atti tecnico-amministrativi necessari dopo la conclusione dei lavori.

2) Le varianti ai contratti di appalto nella reallzzazmne di un‘opera
pubblica.

3) | contenuti di un PSC.

4) Termini e contenuti per l'avvio di un procedimento amministrativo ai
sensi della L. 241/90.

5) In AUTOCAD cosa significa il comando “SPECCHIA”?

6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se |’affermazione & vera (T) o falsa (F).

~ Australia is famous for its amazing creatures and plants, however, scientists have reported
a "shocking” loss of nature. The government published its State of the Environment Report.
The report says there is a decrease in biodiversity. A lot of natural habitat has‘been lost,
and there is more pollution. Australia has scarcity of water and has been hit by fires and
floods in the past 5 years. These killed many animals and caused the loss of natural

habitat. Climate change is also damaging Australia’s ecosystems.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE
1. The Australian Government published a report about the economic crises T/F
2. Five years ago Australia was hit by an earthquake T /F

3. Climate change contributes to damaging the natural habitat T /F



delle FF.AA.

PROVA ORALE
TRACCIAN. 2

1) Prove tecniche in Situ del Direttore dei Lavori atte ad accertare la
corretta esecuzione di un lavoro pubblico.

2) Subappalti e subaffidamenti alla luce dell'attuale normativa.

3) | documenti necessari per disciplinare le condizioni di sicurezza di un
cantiere durante l'esecuzione dei lavori.

4) Le funzioni dellEnte Provincia alla luce dell'attuale ordinamento.
5) In AUTOCAD cosa si intende per “POLILINEA”?

6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se |’affermazione e vera (T) o falsa (F).

The Eiffel Tower is a world-famous sight, attracting millions of tourists every year.
However, it is getting old. Engineers found its metal is full of rust. The tower needs nﬁany
repairs. A report says it has 698 faults. These could put its long-term future in doubt. The
Eiffel Tower opened to the public in 1889. It was built for the 1889 World's Fair in Paris.
It contains 10,100 tons of iron and 2.5 million rivets. The original plan was for it to be
taken down after 20 years. The French government changed its mind and kept it.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE
1. The Eiffel Tower has been damaged by the tourists who visited it T/ F
2. The Eiffel Tower was built as an attraction of a fair in Paris T/ F

3. Originally, the French Government planned to remove the tower after a decade T/ F
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'CATEGORIA GIURIDICA C.A TEMPO PIENO E INDETERMINATO di cui n. 2 posti nservatl a fé
delle FF.AA.

PROVA ORALE
TRACCIAN. 3

<

1) Criteri generali per la progettazione di un'opera pubblica.
-2) Collaudi, CRE, verifiche di conformita.

3) I livelli di pianificazione del territorio.

~4) Diritti e doveri di un pubblico dipendente.

D) Iﬁ AUTOCAD cosa si intende per “LAYER™?

_6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se |’affermazione e vera (T) o falsa (F).

Last week the temperature near Tokyo went over 40°C for the first time in June. As a
consequence of hot weather people are using more air conditioners. This can cause
blackouts, so Japan's government asked people to turn off lights from 3 pm to 6 pm. The
rainy season has just finished. It is the earliest since records began in 1851. This means
. there will be a long, hot summer. There is also a risk of people getting heatstroke. The

government is advising people to drink water and not exercise outside.
MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE
1. Tokyo experienced a record temperature for June T/ F
2. Japan's government asked citizens to turn off air conditioning from3to6 pmT/F

3. The Government advised people to go to the seaside to fight hot weather T/F
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CONCORSO PUBBLICO, PER ESAMI, PER LA COPERTURA DI N. 6 POSTI DI ISTRUTTORE TEC

delle FF.AA.

PROVA ORALE
TRACCIAN. 4

1) Modalita di esecuzione del rilievo di infrastrutture pubbliche (ad
esempio rete fognaria).

2) Modalita per l'affidamento diretto dei lavori pubblici.

3) I vincoli paesaggistici, urbanistici ed ambientali sul territorio.
4) Pubblicita ed accesso agli atti pubblici.

5) In AUTOCAD cosa si intende con il cqmando “OFFSET™?

6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se |’affermazione € vera (T) o falsa (F).

Everyone has a favourite colour. We usually like it all our lives. A new study found that,
the most common favourite colour is blue. The BBC looked at why people like one colour
more than another. They found two things. One was that people around the world like the
colour blue most. The other was that we change the colours we like as we get older. Our
experiences in life also change the way we feel about colour. People often like darker
colours as they get older. Dark yellow-brown is the world's least liked colour.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE
1. A study found that everyone likes the colour blue T/ F
2. The study found that when we get old, we change the colours we like T/ F

3. The study found that there isn’t a colour that is particularly disliked by everyone T/ F
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CONCORSO PUBBLICO, PER ESAMI, PER LA COPERTURA DI N. 6 POSTI DI ISTRUTTORE TECNICOY
CATEGORIA GIURIDICA C, A TEMPO PIENO E INDETERMINATO, di cui n. 2 posti riservati a favore
delle FF.AA.

PROVA ORALE \/\/

TRACCIA N. 5
Vi

1) Modalita di misurazione e contabilizzazione di un'opera pubblica.
2) Modalita per l'affidamento diretto dei servizi e delle forniture.

3) Il ruolo e le responsabilita del CSE in un cantiere e nei rapporti con il
RUP e la stazione appaltante.

4) Differenza tra lavori a misura e lavori a corpo.
5) In AUTOCAD cosa significa la modalita “SNAP’"?

6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se ’affermazione e vera (T) o falsa (F).

UK airlines didn’t reach any of the targets for climate change they had planned. A group
of activists for climate change says that airlines failed to reduce their CO2 production.
Usually, airlines present big targets, talk about them for a couple of years and then the
targets disappear. The airline industry creates seven per cent of the UK's pollution. The
group of activists wants frequent fliers to pay more. Only one airline, EasyJet, met a

target: it cut the amount of fuel an airplane burns by three per cent.

MARK THE FOLLOWING SENTENCES AS TRUE Oﬁ FALSE
1. UK airlines reached only half of the targets to reduce their impact on climate T/F
2. UK airlines are responsible for 70% of UK’s pollution T / F

3. Easy Jet reduced the quantity of fuel used to fly its planes T/ F



CONCORSO PUBBLICO, PER ESAMI, PER LA COPERTURA DI N. 6 POSTI DI ISTRUTTORE TECN C
CATEGORIA GIURIDICA C, A TEMPO PIENO E INDETERMINATO, di cui n. 2 posti riservati a fav
delle FF.AA.

PROVA ORALE (\f
TRACCIA N. 6
1) Attivita propedeutiche alla progettazione di un‘opera pubblica.

2) L'attivita di verifica e controllo dei progetti prima della loro
approvazione definitiva in vista dell'appalto.

3) DPI indispensabili nella condotta di un‘opera pubblica.

4) La conferenza dei servizi sincrona ed asincrona ai sensi della vigente
disciplina.

5) In AUTOCAD cosa significa il comando “SCALA”?

6) Il candidato legga il seguente testo in lingua inglese e risponda alle
domande indicando se |’affermazione & vera (T) o falsa (F).

The World Health Organization reported that almost everyone on Earth breathes bad,
unhealthy air. Researchers checked 6,000 cities in 117 countries. People in poorer
countries breathe the worst air. Millions of people in these countries die because of air
pollution. The solution is to use fossil fuels less. We must cut air pollution and use cleaner
energy for cooking, heating and lighting. We should also make public transport greener,

and have roads that cyclists can use safely.

MARK THE FOLLOWING SENTENCES AS TRUE OR FALSE
1. The quality of air is worse in less developed countries T/ F
2. Air pollution can cause diseases, but not death T/ F

3. Cleaner energy and safer roads are part of the solution to reduce air pollution T/ F



